FUDIT  (BEEHENEBL)
HFHERB = SRE
B TEAEIR SURECE ST SRR
(18 ~XZ b))
» B28 175
> 38 EN 1 OARER
(4w {51
(5% fi5IDxfiL)

At 75 D 1F ‘ http://mathweb.sc.niigata-u.ac.jp/~“hoshi/teaching-j.html

¥ F /N2 |LINK|
S Y UL YAy - T3 LR
(/ — b &L CHRT 2 TN D D £7)
> G NT A (FRIEHERT A b, Y AT LN)

B OWE (RS Ta S T L) Ber 5 Bl 55 2 [ 1/11



http://mathweb.sc.niigata-u.ac.jp/~hoshi/teaching-j.html
https://syllabus.niigata-u.ac.jp/syllabusHtml/2023/84/84_231G5003_ja_JP.html

2.2 115D

&% (A DR)
ﬁﬂAz(a b)B:<e f)Kﬁbf,EAB%
c d g h

AB — < ae + bg af+bh> v,

ce+dg cf+dh

ﬁﬂA:(“ b)x:<x>Kﬁbf,EAx%
c d Y —

[ ax+by
Ax = ( cx + dy ) EEDSD.
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2.2 115D

3 (191 OB)
ﬁﬁﬂA:(“ b),B:<e f)c:ﬂm, Bt AB %
c d g h

AB — < ae + bg af+bh> v,

ce+dg cf +dh
ﬁﬁﬂA=<a b),x:<“>c:ﬁm, B Ax %
c d Y —

[ ax+by
Ax = < ez + dy ) EEDSD.

Gl
2 1\ (1 3\ _(2+4 6-5\_/(6 1
75)\4 —5)  \7+2 21-25 _<27 —4>'

B OWHE (RS T a7 T L) Ber 5 Bl 55 2 [E] 3/11

.




Y
R

{a:r—>u:azv+by
o

)z z=ez+ fw
Yy—v=cx+dy .

w— Yy =gz + hw
L95e, BHROEGHK

5 z»ix&u:ax—l—by:(ae+bg)z+(af+bh)w
O 5
wﬂy&v:cx—l—dy:(ce+dg)z+(cf+dh)w

YEARETES., EoT (1) (2) 1

)(;

e f z

g h w )’
ae +bg af + bh
ce+dg cf +dh

)=(
)=(

- (2)

)

o)

B OWHE (RS T a7 T L) Ber 5 Bl

%21

4/11



o LV —RDYGAH

I
g:e

& (1751 D)

= (ai;) : m x n 178, B = (bji) : n x L1751.
{ AB %

AB = (ci) HL
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Cik = @itbig + -+ + Qinbnk = D _ aijbjk
J=1

(1<i<m,1<k<Il)LEHTD.
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41
A:mxnfr¥l, B:nx1115l= AB : m x l175.

A\

b
ZOrE, B=(by,...,by), b;= : (1<i<l) &Tni,
bni
AB = A(by,...,b;) = (Aby,..., Aby).
]
=y o
A=(1 23V B-[ 3 4 |=(®b.b)
4 5 6 .

AB = A(b1,by) = ( Aby , Aby ) = < . 2
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EFL 2.3

(1) A:mxnfi¥l, B:nx I35, k:FEhxeT5L,
A(kB) = (kA)B = k(AB).
(2) A:mxnfidl, B:nx U174, C:Ixri7fled2L,
(AB)C = A(BC)
(38) A:mxni7sl, B,C:nxIliihled 5L,
A(B +C) = AB + AC
(4) A,B:mxnifhl, C:nx 113535,

(A+ B)C = AC + BC
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—fiZlk, AB# BATH 3 (GEHE D)
(AB=BA X3S\, AB=BADYLEH5H5)
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1 2 10 10
A:(o 1)'B=<3 1>'C:<0 1)'

7 2 1 2
AB:<3 1)%(3 7>:BA, AC=CA=A.
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n ARBAATH] E, 32T TEHEFEZEZ RO,

DFD, mxnfrdl AIZX LT, AE, = E,,A=A.
BOMFRTOEANITE “1"IZH77-b :ax1=1x%xa=na.
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